vl

TEML —PEXRIPTION — leenn] e —___PESCuPTION REQD)
_\_| POLE uo! 3 -~ 4T ] MedrRAL COMNDUCTOR. —
L | LROTARM, mix iyt ——[18_| AeMog pon A
P :3.5&\..58@. _2_ 119 | POLE 4RO UND RE. *b Zu. _5* ]
) msdavnz\xl;tv S— i N s R
_ 1“., ,W_‘U.Dmuuq..xl —._“\1. _'. -

- | ZROOL I ATORS,
SITREL. PIN, Y8 x 5%
AL SAREWL, —
LARRALE polT, ¥or s Y

’
MACHILE POLT, Hotuio®
ﬂ__ﬂle ,
i
g

- L] MACHIVE poLT] 994

2 ,E»\&mrwm.mwsﬁ..- -
; (o)D) 1B - PHAME conpuion,
LEHOR. pon T T
TIE WIRE, “b AL

PN WNAILATOR. , G i

Lyl

g
Qdw.aie

T
!

[ & 13 .4_.
0@ plo

m&u @ NOTE ;
° I. Do Nor INsTALL
4 e -GROUND wipg PAST

NEUTRAL ¢oNpUCToR,
\@ 2. THie LONESTRUCTION

GTANDARD T2 e
\§ WED. o ALL LiNEs

= mxm@ PULT ON NATIONAL
®

EESOURLE LAlDS

DATE T
- 1511 Y A 1 LUE foLe |

ORAWN 8Y: ) 12%0 oL pacp.
1%t ||
‘~ ODESIGN BY: AnoaonOV
CHECKED BT, =7 PRODUCTION DEPT HOBBS DIyIsioN
= Joe: DRAWING NQ.r
APPROVED Bv: =
o)
V Y. GlEL, Spece, ES-24
pl -




¥ S e

TO WEiIL NEAD

’

7 g d
1TEm| S Qxb KEF
5 ‘ i~ .
9 4
2 9 ]
& I 2 .
F Z4 v
G /2 hu )
2 A
7 q LR
X g
Z G e
PerGo| 7 £S5/, NOTE 5 L
———g L
S A '
T £
u 3
W 5
X / 1 .
Y 3 .
z ‘3 :
44 | 3
44 | —
B T ] _
CLEE | 8. e .
| £~ ! i
7R [
] 7 ;
| L/ / £S-/A, NOTE 2
m /
FP 3
aa | & '
- P .
NOTE -

LLENTER. PHASE
" EPOXY IMSULATOR,
INS. (REF.- REFER,

Z.ALL WIRE FroM

ON PANK. WILL HAVE - - o'
, KEARKNEY * %23016-2¢ .t
TO DRILY. E5-29) -

POINT U™ wiLL re

INSULATED TYPE wige ON TRANSGFORMER,

AN,

DATE: TITLE:
12-12-77 .

ORAWN BY: w“\\u ”

CSINGLE kO F Sua STA,
TRANS, LUSTER MUNT

PRIM DEAD-END - ESCO/ B0V Acse

DESIGN BY: NA\\\V

(cenoco)

SERRSLE%

Py

Ky s,

[ NE e A

CHECKED By PRODUCTION DEPT, HOBBS DIVISIOr
JoBe: DRAWING NO.r
APPROVED By: -
ELke specs - - £S- g
SEALE b
s AONE
'

i
'
)’
. '
.: ~ i
: g !
o K
: !
i i
. : !
' 1 ~




APPROVED BY:

SCALE!
NONE

ITeM DESCRIPTION A. B. CHANCE NO, JOSLYN NO, OTHER No,
MFRS. NO, SUB.
A 35’ class 6 creosoted pine pole .
B 3 1/2" x 4 172" x 8' treated crossarm '
c High denaity wet process porcelain pin Insulator 63
[] 578" x 3" Forged stee Pin w/sq. Vasher, nut; &
ocknut 88/
F /8" x 17" machine bolt w/ mut {or Tength req'dy 868/2
F 147 x 271764 x 3/16" x 11/16" hole 8q, washer 6813
[ /8" MF Locknut | 3572 )
i /8" x 1 174" % 38" flat Crossarm Brace 7/28
J /2" x &” E7 Fetter Driva Log Screw 508754
K_{ _3/8" x 4 172" Carriage Boit w/ Nut 634 12
L 3/8" MF Locknut 35/¢
H Preformed Aluminum Alloy Atwor Rode) slze réqTd”
N | _tie wire #6 strong aium, alloy ~ . .M”,I»‘
0 Epoxy Insuiator (Extenston Link) REARNLY +37102566 | X ]
P 35" claes 5 creosoted pine pole T
R Aluminum double tab Squeeze on Connector iy
for ACSR, Aluminum, or Copper-size req'd KUARNEY SERIES "gr~ | x
6__Suspension Insulator 66200
T 3/8" Standard Oval Eye Nut o502
Primary Dead End Clam - . LPO5Q
v 5/8" x 18" (or length req'd) Doubie Arming Boit ‘
w/4 8q. nute 8668
X guying detail - see dwg No, ES-10 for specs.
Y Hot Line Clamp S/520A6F : |
Z Squeers on basket, aize required | AR E, X
i
i
| '
i pATE /2-27-7/ e
v —
{ DRAWN Bv: bhlh.ﬁx‘\\"\.\Qk\\O\ TER/H S
E.WINTER )
DESIGN BY: conoc.
CHECKED BY: PRODUCTION DEPT, HOBBS DivIS!
JoB: DRA'"ING NO+

£S-y

£LEC IPECS

H
i
1
'

i

SUEET for 3




! 1TEM DESCRIPTION 7-. CHANCE No, JOSLYN o, OTIER No
“ MFRS, NO, SUB.
w. AA Primary Cutout . 100 amp, 15 KV, 16000 amp fne, cap.| FZXX/015G - X
g | BB ) General Purpose (" bolt Clamp YC3/10AGP
[ - cc Lightening arrestor, 10 KV
P —— ’L'l!’ - . o emea— o

" DD Single phase ol switch, 14,4 KV :.alwmﬁ‘nm..vozxxx’nwl
4 E split bole connector, sire req'd o YLACKHUKN W SiRIE S
v FF grounding specs. see dug No, ES-11 & ES-1A, Note 3
4 GG 35' class 4 creosoted pine pole .
H HH >—.E.,_ms|an-._awta|h._.mnowa- for ACSR, size req'd
i JJ 30" clase 6 creosoted pine pole )
1 KK OVERHEAD GRND, #47ACSR - 1f Req’d < Ref. Dwg ES-11,
X FES-1A - Note 3 A .
" LL ground connector, motor o BURNOY W C- 2 x
i L] 600 <§2:_§.EE¢P§FE-=

NN Greenfield Type EP Hquid-tipht flexible steel

conduit, sige roq'd, w/ neceseary liquid-tighe
tonnectors,
|00 _{ req’d alre Ly fitiing & sover & gaskee - - ——— e

: PP transformer ~A~W..mﬁo:=mn:ml.nmg»=n~ . e ] OWS-/S
v 0 Bird Cuards Insulating boote on transformer bushinga
P :

A
. LR I— TITLE!

ORAWN BY: DESCRIPTION MATER 4L ~—

£ WINTER
| DESIGN BY! ﬁnODOnO

CHECKED Bv: PRODUCTION DEPT HOBBS DIVISION
) Jo8r DRAWING NQ,»

APPROVED BY:

“Z&c sprcs
A
SCALE: NoNE

e

’

i
1

T




T

DESCRIPTION

A. B. CHANCE WO,

{JOSLYN WO,

OTHER NO.
MFRS. NO, Sus,

double upset bolt u/8q. nut, round wagher, and
cotter key on short end, sq. nut and MF locknut
on long end, 15 1/8" long (or length required.)

7828

|

wet process porcelain secondary spool tnsulator,
3", brown glaze

sIor

required size conduit w/ servicehead(s) & req'd
size & rated f{nsulated conductors.
Note: provide clamp and ground conduit

Ref, bwg ES-1B

parallel groove clamp, size req'd

BURNDY SEXIES U™

secondary {nsulator clevis for 4" {nsulator

$/8" thimbleye nut

©3/0

5/87 % 12" (or Tength req'd) straight thimbleye

55/2

bolt w/eq. nut .
transformer cluster mount brecket (emall)

AUMAIORM 61136 | X

transformer cluster mount bracket (large)

ALUMAFORM 15M3-4 X

req'd eize raintight disconnect & fuses, 3-pha e,
600 v, Ref, Dwg No, ES-1R

semabanboopmadifon f-

16" cross plate anchor (or size req'd)

X-le

8-way expanding anchor (size req'd)

86135

e

47 brown glaze wet process porcelain -noozmm-‘w
spool {inaulator

Jorot

5/8" x 7' thimbleye anchor rod w/nut (use twineye
1f req'd - Chance No, 531

5317 (WT 55006P)

/8°_high atrensth guy atrand (10,800 16,3

preformed puy grip for 3/8" guy strand

5/8" x 10" angle thimbleye bolt w/nut 5010

3"x3"x1/47x11/16™ hole curved washer bB23 ¥z X

6" - guy clamp w/3-1/2" bolts
[T] medium size strain insulator ——
hh serving sleeve for 3/8" puy strand o454
19 /16" x 2-1/2" x 77 Vift plate 7887 N X
nn pole bottom ground plate (may use butt-wrapp if t

desired) e
aq Ground Connection (See Dwp., ES-T12§
re wet proceas porcelain secondary spool insuvlator,

3" - white glaze
te wet process porcelain secondary apool insulator,

4" - white glaze

. DATE: TiTLEY
12277/ .. DESCRIPTION MATERINS ==
DRAWN 8Y:
£ WINTER
CHECKED BY! PRODUCTION DEPT, HOBBS DIVISION

APPROVED BY:

SCALE!

NONE

Jos:

LLEC SrECS

ORAWING NO.+

ST

SKEEr O Y

R )

ST eN

2t TG O

)
)
]
!




